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FE Y v A L A ] [ 4 & Bl A E] 110kV ik £ 75 3 10kV/ 82230 7 4% 9162.5 0

] R 362 it Fi A ] i 2 B o 7] 110kV 7R R 28 FE ik 10kV58117 L £k 9526.3 0
] o K98 it H 2 0 & Bt e ] 35KV [ 1AL B i 10kV587 S 5 2k 9578.2 0

] R 36 it Fi A ] i 2 B o 7] 110KV i 12,48 F i 10kV 876 It 2 9578.2 0

[ R 362 it P A ) B 0 & Bt e ] 110kV ik 2 38 L b 10kV817H# FL 4k 9699.5 0

] R 362 it Fi 2 ] i 2 B o 7] 110kV i £ 42 F 10kv816 I £ 9578.2 0

FE o v it L A ] R 3 AT 35k Vi Jb A8 HL il 10kv ¥ _EOL{R 2k 836 9526.3 0
] R 362 4t Fi 2 ] [ i 2 B o 7] 110kV i 2 A2 F 10kV 8293 7 £ 9578.2 0

] o K98 it H 2 B 0 0 & Bt e ] 35KV K AR AR HL ik 10k V546 1 25 7863.5 0

] R 362 4t Fl A [ ™ i 2 B o 7] 110kV i Z 22 F 10kV815FF ¥ £k 9699.5 0
WK 3 it E A W 2 Bt A ] 110kV ik 2 42 10kV81935 7% 11 [ £ 9699.5 0

FE 7 K v 41t L A ] 3 & Bl e A 110KV #5 J8 72 i 3k 10kV885 A< V4 25 7863.5 0
] o K96 it H 2 E M £ Bt A A 110kV i 2 28 HL ik 10kV826 K AT 2k 9630.2 0
] K36 it r 2 7] [ ) 3 i L {4 v 0 ] 35KV J\ BL AR R b 10kV )\ B H: 2k 867 4503.3 173.14
[ R 362 it F A ) ] ) 3 4 LA v 8 ) 110kV A5 28 HL ik 10kV867H 4k 2598.1 914.38
FE X K v I L A ] ] ) 3 b LA P ) 110KV 2 3E AR 1 3k 10kV AL A 543 8054 2277
[ R 36 it F A ) ] ) 3 3 AR v 8 ) 35kV EHF AR HLk 10kV7K e £k 880 7863.5 97
] R 362 4t Fi A ) [ ) 3 i L A4 vl 0 ] 110kV F R AZ F 10kVEZ I 4 £ 547 7863.5 77.7
] o K98 it H 2 ] o) e bE LAk L A ] 110KV %2 156 45 H 3k 10kV57UR B 1B 2k 9578.2 2632.96
] R 362 it Fi A ) [ ) 3% i EL {4 £l 0 ] 35KV AR I A8 FL ik 10kV JLH £k 515 10911.9 494.2
] o K98 it H 2 ] [0 e 1 Lk L A ] 35kV EHFAR HL ik 10kV {3 B 2 882 2598.1 400.98
] R 362 it Fi 2 ] ] ) 3% i EL {4 Bl 0 ] 35KV AR I A8 FL ik 10kv512 546k 11604.7 356.26
] ) K v 41k Hh A ] ] o) 2 45 LA B A ] 35kV E ML HL bk 10kV B i £k 886 7863.5 412
] R 362 4t Fl A ) [ ) 3% i L fH Bl 0 ] 110KV {548 10kVIR 7R 1T £ 860 9526.3 1422.34
] ) K v 41k Hh A ] ] ) 92 48 B A L A D 110kV HL 538 L b 10kv AR AL BH 2 851 7863.5 542.2
] R 362 it Fl A ) [ ) 3% i EL {4 Ffg 0 ] 35KV 2 i A2 FL ik 10kV % %576 5542.6 127.78
] o K96 it H 2 ] ) 38 1 S A3 L 24 ] 110KV 3¢ 156 45 H 3k 10kV/ 556341 52 i 9526.3 3583.04
[ ) K 362 it Fi A ] [ ) 3% i L {4 pfg 0 ] 110kV 32 1 48 F il 10kV ¥ [ £ 545 42435 2064
] ) K 3 it H A ] [ ) 32 1 L {3 v 23 ] 110kV HL {538 HE bk 10kV 31 75 1V [] 855 9595.6 1366.98




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
[ R 362 it P A ) ] ) 3 i AR v 8 ) 110kV A5 28 HL ik 10kv |- F £k 865 2598.1 2346.38
] P 362 it Fi, 2 ] [ ) 3 i L {4 B 0 ] 110kV F R A2 F 10kV i B PG £ 548 7863.5 210.2
B K 3 it A ] ] ) 3 3 LA v 8 ) 110kV A5 28 HL ik 10kV £ 5% 837 2598.1 3279.98
] R 362 4t Fl A [ ) 3 5 L fH v 20 ] 110KV %2 1545 F 10kV 4 J& 560 7326.6 532.88
FEl P v it H 2 ) ] ) 3 3 AR v 8 ] 110kV F R A8 HL ik 10kv 23 £ 543 7863.5 179.7
] R 362 4t Fi A ] [ ) 35 i L A v 0 ] 110kV {5 28 F ik 10kVIR 7R T 2838 9526.3 1337.14
] o K98 it H 2 ] o) e JE LAk L A ] 110kV HLAF AR 1 il 10kV 8587 it 2k 7326.6 1096.88
] R 36 4t Fi A [ ) 3% i EL A4 Bl 0 ] 110kV {75 28 FE 10k Vi £k 832 6200.7 1412.16
] ) K v 41k Hh A ] ] o) 2 45 LA B A ] 35kV/ 5 b A8 Bl () 10kV ¥ 47 £k 847 11535.5 924
] R 362 it Fi A ] [ ) 3% i L {4 Bl 0 ] 110KV B {548 10kVIR 71 11£: 836 6581.8 557.24
] ) K v 41k Hh A ] ] ) 9 48 B A L A 110KV f&5 V2548 1 b 10KV I Pk AR 2 818 8054 25.6
] R 36 it Fi A ] [ ) 3% i EL {4 Bl 0 ] 110KV {548 ik 10kVIR PG T [71834 2598.1 2603.48
] o K38 it H 2 ] o) 38 1 S A3 L 24 ] 110kV 8 345 1 3l 10kV5693 K £k 9578.2 2991.96
] R 362 it Fi 2 ] [ ) 3% i L fH Bl 0 ] 35kV AL v 10kV %< 111 £k 883 7863.5 986
FE R i i i A ] ) 3 3 AR v 8 ] 110kV HLAF AR 1 il 10KV i 111 2k856 2598.1 278.38
FE 7 K v 4t L A ] I o 2 45 EL A3 A ) 35KV 5 b AR Lk (%) 10kv845 T4 25 7863.5 710.8
FE Y KV it L A ] ] ) 3 4 AR v 0 ] 35KV 7K A48 HL itk 10kv N R £833 6928.2 314.56
GRS A W) 22 16 EL kAL A 110KV & HH A5 1 3k 10kV i 542 2598.1 1024.98
[ R 36 it P A ) ] ) 3 3 AR v 8 ] 35KV J\ HLEE AR H i 10kV J5 [ £k 866 7863.5 485.6
FE 7 K v 41t L A ] I ) 2 45 EL A3 v A ) 35KV R A8 HL i 10kVHii Pk £k 816 4416.7 622.76
FE K 3 it A ] ] ) 3 3 AR v 8 ) 110kV F R 28 H ik 10kV M & 539 7863.5 28
] R 362 it Fl A [ ) 3 i L {4 v 0 ] 110kV 3¢ JE A8 F ik 10kV568i 7 7< 25 2598.1 2946.98
[ R 362 it F A ) ] ) 3 4 LA v 8 ) 110kV J5 7528 HL il 10kv Tl £k 819 5369.4 556.92
] 5 K-y it H 2 7] ] [P 22 5 Bk Hy 0 ) 110KV 3£ 545 Hi b 10kV 56635, 7 £k 9578.2 0

[ R 36 it F A ) ] ) 3 3 AR v 8 ) 35kV K48 H ikl 10kV813 & Jifi £k 7863.5 0
] R 362 4t Fi A ) [ ) 3 i L A4 vl 0 ] 35kV AL v 10kV 884 4k 2598.1 0
] o K98 it H 2 ] o) e bE LAk L A ] 35KV /K A8 H i 10kV8377H 75 2k 7863.5 0

] /4 K 9 3t R 7] ] o) 22 38 BL it A 7] 35kV K T-28 F itk 10KV 8185 5 £k 7863.5 0

FE Y v it L ] ] o 22 3 L A3 FL 0 ) 35KV ZR I 78 H 3 10kV5147R s 25 12124 0
] R 362 it Fi 2 ] ] ) 3% i EL {4 Bl 0 ] 110KV {548 ik 10kV 8624 45 £k 11777.9 0

] ) K v 41k Hh A ] ] ) 9 48 B ffE L A R 110KV f& V2548 1R 3 10kv822 ¥ 1R £k 2598.1 0

] K36 it r 2 7 ] o) 22 38 BL it A 7] 110KV %8 1647 F 3 10kV564 3 Lk 9578.2 0

] o K98 it F 2 ] o) 38 1 S A3 L 24 ] 110kV 8 $H 45 1 3l 10kV565€K: M4 25 9595.6 0

] R 362 it Fl A ) [ ) 3% i EL {4 Ffg 0 ] 110kV B {548 10kV861F12£ 5l 2k 5196.2 0
] P 3 4t F 2 ) ] ) 2 48 L fHE L A D 35KV it A Hik (52) 10kv Tl £k 848 7863.5 0

FE 9 K v 4t L A I o 2 45 EL A3 i A ) 35KV /K BR AL HL 3k 10kV8313H 145 7863.5 0
E] 9 K- v 43k Hhy A ] ] ] v 3 DX AHE i e 110k V Bk IE 42 H 3l 10kV ZR KA 1146838 7499.8 1104.1




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
I K-8 it B 2 ] 9 74 35 X 3 B A 110k V Ak el 28 L il 10kV 8254k AH 1 2k 6062.2 3303.96
FE 9 K I L A ] R ISE Y R s i SR 110kV Ak el A2 £ 33k 10kVAE K KB T £:842 4434.1 380.18
] I K- 96 it B 2 ] F] £ 4 35 X 3 B A 110kV/I, 28 HL il 10kV % B 2k 535 8313.8 2658.34
FE X K I L A ] I 0 X A3 rf o 110kV 3, 75 48 L il 10kv 855 1L — R IF [ 12k 5542.6 1153.38
RSP A P VR IR Xt H 120k V Ak el 28 HL il 10kV Jff J5 < 1 £k 840 5542.6 1484.28
FE XK A L A ] I 90 3 X A3 rl o 110kV Ak el A2 H 3 10KV 5 A 11 £k821 7863.5 1415.4
] P 3 43t F, 2 ) ] 90 9 B X 3% FL R 110KV A7 R AR H 3l 10kV 5 KB I £k572 7898.2 866.96
FE Y K I L A ] I 90 X A3 L 110KV 4k 48 H 3k 10kV524 K AT % 2% 2598.1 558.08
] R 4 36 14t i A ] ] 4] v 3 DX A2 i e 110KV AR H 3l 10kVoK PG 1 £k546 8313.8 2080.54
FE R i i A A I 0 3 X A3 L o 120kV3, H A8 HL izl 10kVHIE KB T 26541 5542.6 828.78
[ R 4 36 14t i A ] I ]V 3 DX A2 L e 110KV R 48 1 3l 10kv587 4 T F4T 11 £& 5542.6 194.88
FE R i it A A ) I 90 i X A3 L o 110kV Ak el 42 v 3k 10kVE A TT HIBT T 26836 2598.1 1564.78
[ R 36 14t i A ] ] ] v 3 DX AHE i e 110k V Bk I8 42 H 3l 10kV I KB [ Zks41 5542.6 767.78
FE R i it A A ) I 90 X A3 rl o 110KV IR 7= 42 v 3k 10kV 5624 3 KBIEI 24 5542.6 303.78
[ R 36 14t L A ] I ] v 8 DX A3 i e 110KV 75 42 H 3l 10kv 8561t 5% 1125 5542.6 2156.98
FE 9 K v I L A ] I 90 i X A3 rl o 110KV 4k A2 v 3k 10kV = B 2k 511 8313.8 2521.84
FE] K- v 40k by A ] ] ] v 3 DX A3 i e 110KV AR 1 il 10kV Kbk 514 2598.1 532.78
WK it L 7 IR K- 3 398 X it e, 120k V Ak el 22 FL ik 10kv HE T AT 1T 26835 7499.8 497.24
FE v it L A ] I ] v 3 DX AHE i e 110kV A7 FE 48 HL il 10KV 5834 7 7R I 2% 5629.2 24.36
K36 it L 7 IR K- 3 38 X it b, 110kV A1 128 F ik 10KV TR AR 12 571 2598.1 2868.38
] I K- 6 it B 2 ] 9 74 35 X 3 B A 110k V Ak el 28 L il 10kv824 L i 7 35 4% 5196.2 711.96
FE K L A ] I 0 X A3 rf 120k V Ak el 28 F ik 10k I b 11 £k848 5542.6 587.98
W K- v 43k H, 2 ) K- 8 9 Xt H g 110kV/I, 28 HL il 10kV KAT R A4k 542 4468.7 172.46
FE X K v I L A ] I 90 X A3 rf o 110kV 3, 75 48 L izl 10kV821 3z I 1AL R 4% 5542.6 231.48
] ) - 9 13k H 2 ) [ 90K 9 I [X 42 H 110kV/I, 28 HL il 10kV521 3 4% 8313.8 2453.14
FE Y K A L A ] EIIERISE R Rt SR 110KV 4k AR H 3k 10kV517 /1 J # 4k 8972 2094.1
] P 3 43t F, 2 ) ] 90 9 B X 3% FL R 110kVI B4R H 3l 10kV577 4 FH th 52 125 5542.6 1375.98
] R 362 it Fi A ) T 0 9 3 X AL B e 110k VI, 73 28 FL ik 10kV5594E JLKB T Al £k 5542.6 37.98
] P 3 43t F 2 ) ] 90 9 B X 3% FL R 110k V/I B 42 H 3l 10kV 819K M £ 25 8313.8 393.84
FE R v it A A ) I 0 i X A3 L o 110KV IR 7R 42 H 3k 10kV RAT AR f 11 £k575 7863.5 408
FE Y KV i L A ] ] 0 I X A3 v 110KV R 48 H bl 10kV HL77dbKB T [E12k561 6304.7 531.66
FE R i i A A ) I 90 3 X A3 rl o 120kV3, A8 HL izl 10kV-K: HiE# £k 536 2598.1 1820.68
[ R 4 36 14t i A ) I ] v 3 DX A2 i e 110KV V52 T8 42 H, 3l 10kV877ff f5 P 25 6200.7 2729.96
FE R i i A A ) I 90 i X A3 L o 110kV Ak el 42 v 3k 10kVAEJE KB T £:843 10911.9 1469.72
] R 36 14t i A ] I ] v 8 DX AHE i e 110KV AR H 3l 10kV518RHLKBI[E] 2% 7499.8 703.94
FE R i it A A ) I 90 i X A3 L o 110kV Ak el 42 1 33k 10kV830MH AR K [ 1 £k 5542.6 698.38
E] 9 K- v 43k Hhy A ] ] ] v 3 DX AHE i e 110KV ZR A48 1 il 10kV K %R £k 556 5975.6 253.18




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] ) - 9 13k H 2 ) ] 9K 9 I IX 42 H 110k V Ak el 28 L il 10kV AR S 1T £ks49 5542.6 503.98
FE 9 K I L A ] R ISE Y R s i SR 110kV Ak el A2 £ 33k 10kv 823k [E KBI £k 5542.6 911.98
] I K- 96 it B 2 ] F] £ 4 35 X 3 B A 110kV/I, 75 28 HL il 10kV K VG 1T £k 844 4468.7 327.06
FE X K I L A ] I 0 X A3 rf o 110kV kel A2 £ 33 10kV IE AL IF B BT 11 2837 5542.6 431.38
] ) - 9 13t H 2 ) ] 9K 9 I IX 42 H s 110kVI, 28 HL il 10kV 5t 5K H I H BT 114k 512 5542.6 509.98
FE XK A L A ] I 90 3 X A3 rl o 110KV IR Z< 748 i 3k 10kV5865t ZK T T 2% 4416.7 1729.56
] P 3 43t F, 2 ) ] 90 9 B X 3% FL R 110KV ZR A48 H 3l 10kV 5774 7 H 25 5542.6 1881.48
FE P i i A A ) I 90 X A3 L 110KV I %< 42 1 3k 10kV'557°4 R I F BT 1125 6166.1 1721.78
] R 4 36 14t i A ] ] 4] v 3 DX A2 i e 110KV 76 42 H 3l 10kV 8271 A 2% 8313.8 1434.04
FE R i i A A I 0 3 X A3 L o 110KV IR 7R 42 H 3k 10kV585 412 T A R AT 4% 7499.8 1632.14
[ R 4 36 14t i A ] I ]V 3 DX A2 L e 110KV AR H il 10kV 1 E A4 545 2598.1 2085.38
FE R i it A A ) I 90 i X A3 L o 120kV3, A8 HL izl 10kV 45 716 KB IT £k543 5542.6 2391.78
[ R 36 14t i A ] ] ] v 3 DX AHE i e 110KV A1 R AR 1 3l 10KV #iE 1 £k 584 2598.1 2497.68
FE R i it A A ) I 90 X A3 rl o 110kV Ak el 42 v 3k 10kV 7 [ KB 1T 26839 5542.6 1104.08
[ R 36 14t L A ] I ] v 8 DX A3 i e 110kVI b AR H il 10kV K AL #R 112567 3204.3 2427.64
FE R i it A A ) I 90 i X A3 rl o 120kV35, Hh A8 HL izl 10kv5234K 24 it 1145 7499.8 1537.44
FE] K- v 40k by A ] ] ] v 3 DX A3 i e 110KV ZR A48 1 il 10kV582%5 32 7R 78 HL 2K 5542.6 1869.28
] K36 it r 2 7 T 0 9 3 X AL B 110KV A A2 F 10kV S % H % 25 566 4416.7 2830.36
] K- 9 3k H 2 ) ] K- 9 I [X 42 H 110k V Ak el 48 HL il 10kV B AT %< £k 845 6252.7 2127.76
] K36 it r 2 7 T 0 9 3 X AL v 110kV A1 128 F ik 10kV-K: % KB IT £:585 5542.6 1326.78
ER S| PO 76 0 XL R 110KV AR 22 L w 10kv553 5 HLAT £k 4416.7 865.06
FE K L A ] I 0 X A3 rf 120kV I, 75 48 L inly 10kvdL— ¥ £k 849 5542.6 621.68
] ) K- 9 13k H 2 ) ] 9K 9 I [X 42 H s 110kV A7 FE 28 1L il 10kV AR K £k 581 5629.2 2347.66
FE X K v I L A ] I 90 X A3 rf o 110kV 3, 75 48 L izl 10kV834 11 FF 1111 2% 5542.6 3190.88
FE P v it L 2 ) ] 0 I X A3 v 110k VIR AL AL L 3k 10kV590b—FRJF A1 11£5 7499.8 1296.84
FE Y K A L A ] EIIERISE R Rt SR 110kV Ak el A2 H 3k 10kV Bk FE 1 £k 834 4087.6 1323.48
] P 3 43t F, 2 ) ] 90 9 B X 3% FL R 110KV ZR A48 H 3l 10kV579% 32 4 78 HiL 2% 5542.6 3190.58
FE X K A L A ] I 90 i X A3 rl o 110KV 4k A8 v 3k 10kV5153 75 HH i 2% 8313.8 2278.24
[ W36 it A 7 ] 90 3 X A3 v 110KV AR H 3l 10kV 5441t 20 4 I 2% 5542.6 979.28
FE 90 K I L A ] I 0 i X A3 L o 110KV 4k A2 i 3k 10kVIRAL 7 2k 534 5542.6 1406.9
FE Y KV i L A ] I ]V 3 DX A2 i e 110k VAL 38 K 3 10kV e/ -|b % £ 588 5629.2 760.96
FE R i i A A ) I 90 3 X A3 rl o 110kV/35, 7 42 FL ik 10kv816FiEl 1T 2k 5542.6 933.78
FE Y v it L ] I ] v 3 DX A2 i e 110kV kAL 38 L 3 10kV fRHLKBIIZE 587 7499.8 1583.04
FE 9 K v A L 2 ] I 90 i X A3 L o 110KV 4k 42 i 3k 10kV513 K47 1k 10565.5 289.2
] R 36 14t i A ] I ] v 8 DX AHE i e 110KV AR H 3l 10kV519K AR KBI[HI 25 5542.6 512.48
FE R i it A A ) I 90 i X A3 L o 110k V/35, 7 48 HL itk 10kv815F—JF ] 1 £k 42435 0

FE] P 3 3t H 2 ) ] ] v 3 DX AHE i e 110k V Bk IE 42 H 3l 10kV JLEEM I 844 5542.6 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] o4 7 A5 L A ] Il PO v 4 Xt v 110KV 4k, 32 L o 10KV 5314 % H 1 125 2598.1 0
FE R i it A A ) R ISE Y R s i SR 110kV Ak el A2 £ 33k 10kV8287H MMk T 2k 5542.6 0
] I K- 96 it B 2 ] F] £ 4 35 X 3 B A 110kV A1 FE 28 1L il 10kV K i & 587 2598.1 0
FE R i i A A ) I 0 X A3 rf o 110KV V5% 1 A8 L izl 10kV # — 1144875 7499.8 0
FE Y K v it L A ] I o ¥ 3 DX A3 b e 110KV AR 22 L 10kV5457: £ 2k 5542.6 0
FE XK A L A ] I 90 3 X A3 rl o 110kV Ak el A2 H 3 10kV833:fT KB T £& 5542.6 0
] o K98 it H 2 ] o] K 8 38 X 3 R o 110k VI B 42 H 3l 10kV 81274 f1 2k 5542.6 0
FE P i i A A ) I 90 X A3 L 110KV I %< 42 1 3k 10kV5743 AL AR B 26 5542.6 0
] R 4 36 14t i A ] ] 90 I X A3 v 110KV AR H 3l 10kV532%2 HKB I 2% 5542.6 0
FE R i i A A I 0 3 X A3 L o 110k V/3, 7 42 HL itk 10kV813XL R T I £k 5542.6 0
[ R 4 36 14t i A ] ] 90 I X A3 f 110KV V52 T 48 H 3l 10kV ZEAETT (114873 5542.6 0
FE K I L A ] I 90 i X A3 L o 110KV 4k 42 1 3k 10kV51676 K #14k 8313.8 0
[ R 36 14t i A ] ] 90 I X A3 v 110KV V52 T8 42 H 3l 10kv871K 4k 5542.6 0
] X v it B2 ] ] 0 3 33 X B v 110KV 41§, 5 A48 F i 10kV 8357 — £ 5542.6 0
[ R 36 14t L A ] ] 90 I X A3 v 110kVI b AR H il 10kV584 5 52 FE KBIIZL 8313.8 0
FE R i it A A ) I 90 i X A3 rl o 110k V35, 7 48 L ik 10kV835 3% I R £k 6373.9 0
FE] P 3 4t H, 2 ) ] ] v 3 DX A3 i e 110KV B A48 H bl 10kv838 L4l [ £k 7863.5 0
FE P i i A A ) I 90 X A3 rf o 120k V A7 H A8 FL izl 10kV 4E 5 T P11 £ 567 5542.6 0
E] 0 K- v 40k Hhy A ] 5] o] 9 4 X 4t H 110KV 43k, 74 42 H 3 10kV845 4 K FEKB [ £5 5542.6 0
] K36 it r 2 7 ] o0 K 94 338 X A3 i o 120kVIR 628 FE ik 10kV 570118 T [41 12 2598.1 0
FEl P v it H A ) ] 0 I X A3 v 110k V 4k A2 L 3k 10kV'525 H.—KBI [2] £k 4468.7 0
FE R i i i A ) I 0 X A3 rf 120kVIR 628 FE ik 10kV591 75 —FF 4L £k 7863.5 0
FE X v it L A ] I ] v DX A2 i e 110KV 43k, P A2 HE b 10kV823 K M IF1A] 1 2% 6166.1 0
FE X K v I L A ] I 90 X A3 rf o 110KV 4k i 72 H 3 10kV834E L IT I4] 112k 5542.6 0
FE 0 K v it L A ] V] K ¥ 3 DX A3 b e 110KV AZ L 3 10kV5337% KATLE 10911.9 0
FE ) v it A A ) EIIERISE R Rt SR 110k V3, 5 748 HL itk 10kV 8374 F R P £k 10565.5 0
] o K98 it H 2 ] o] K 8 31 X 3 R o 0 110KV g 42 H 3l 10kv836 fif 5 VH #41 2k 10911.9 0
FE P i i A A I 90 i X A3 rl o 120k V 35, 75 48 L izl 10kV862 R T* [ 112k 7499.8 0
) PR LA ] K ¥ 0 DX A3 b 110KV 35 75 45 H i 10kV863 1R T T 114k 7499.8 0
[ Koy it oy ) | I K v T S X A3 e ) 35kV & 7R A8 FL ik 10kV522 < 7 LL £k 9578.2 2307.66
R gt AR | E KA T BRI A A 110kV 5] 2 FEAZ Bl 10kV5895<7H £k 9578.2 3733.16
FE Ky s ) | I K v T SR X A3 e ) 35kV & 7R A8 FL ik 10kV532 5 14 112k 9578.2 493.16
R gt AR | E KA BRI A 35KV I VAT A8 HL i 10kV/525 P4 i 2% 9578.2 377.46
R e AT | ER A 7 R X A A & 110KV 3 F 1L A8 10kV812 BTV 4L 9578.2 796.06
FE Kyt A ] | FE K 98 17 R X 3t e 2 ) 35kV {5 7R A HL il 10kV521 41 3 2% 9578.2 447.56
R e AT | ER KA R X i A & 110KV B4 P b 10kV 84335 th £k 9578.2 626.96
ER et AT | ERK AT S g AR | 120KV T8 i 10kV842 %< & 2% 9578.2 3187.36




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
[ KA i 2 &) | K 38 1T X A A ) 110k Vit 328 HL il 10kV5714 E 4k 9578.2 1979.96
[E KA A ) | K v T I X A3 i A ) 35kV & R A8 FL ik 10kV533K TG4k 9578.2 194.86
[ KA 2 &) | K 38 1T X A3 A ) 110KV 72 J5 A2 H 10kV/529:% £k 9578.2 1999.96
E KA AT | E KA TR IX G AR | 110kV ] ZF E AR HL b 10kV588% 5 )11 2% 9578.2 4410.3
[ KA it 2 &) | R 38 1T X A3 A ) 110KV 72 J5 A5 H 10kV/524 B A+ 2% 9578.2 2796.96
[ Koy it s ) | I K v T S X A3 A ) 35kV & 7R A8 FL ik 10kV524 & 1b14k 9578.2 377.46
E R d A R | KT8 T R X it 2 110k V 3 5 48 L 3l 10kV52575 £k 9578.2 1043.26
FE KR AL A F] | T K T R X e 4 ) 35KV V] A2 FL ik 10kV524 %0 5 28 9578.2 946.7
FE Ky b A ] | T K 98 T 4R X3 e 2 ) 110KV 3548 1R b 10kV5763 5 £k 9578.2 1960.26
[ Koy i s ) | I K v T S X A3 e A ) 110k V =] 2 A% P b 10kV579 =] i £k 9578.2 97.56
R gt AR | E KA T BRI A 110KV i 48 v il 10kV 5537 i 2% 9578.2 1865.96
MK a gt AT | ER K X gt A & 35KV I VAT A L 10kV523°% 1 25 9578.2 147.56
ER et AT | ERAKE TS e AR | 120KV T8 s 10kv855 | ¥ 2% 9578.2 415.36
R e AT | R T R X A A & 110k V =] 2 A R b 10kV 58135, 7 £ 10184.5 3336.8
ERKa gt AT | ERKE TS X g AR | 120k IE 28128 sk 10kV 583 5% £k 9578.2 1635.76
EW et A m | EMKAT SR X A AR [ 110kv 3T 148 Hk 10kV813if A £& 9578.2 246.56
E et AT | ERKE TS g AR | 120k IE 28128 H 10kV584 % HE 4R 2L 9578.2 1260.36
[ WKy it s ) | I K v T SR X A3 i A ) 110KV 3 548 F i 10kV 56435, 128 9578.2 0
EIM KA AT | KA HRX AR | 110kVE2E LR s 10kV/585 fH £k 9578.2 0
[ KA it o ) | I K v T SR X A3 e A ) 110k V =] 2 A% P b 10kV5907 5 £k 9578.2 0
E et AR | B MR IE TR X A R 110KV 2 Jiti 45 H 10kV521 7 R TT2% 9578.2 0
FER K e AT | ERAK A 7 R X A A & 110kV 7 5 28 F ik 10kV519 X 2k 9578.2 0
R gt AR | E KA SR X A F 110k Vi 3028 HL il 10kV566:35 2k 9578.2 0
[ KA it s ) | I K v T S X AR e A ) 110KV 3 A8 F i 10kV5773R Pl 2k 9578.2 0
E et AR | B MR IE TR X A R 35kV & A HL 10kV’523 774 U 3 25 9578.2 0
KA AT | E KA TR X GE AR | 110kV {112 HL 10kV 8443H, 7R 2 9578.2 0
E R K d A R | B K IE T R X it 2 110kV =] 2 FE AR 1 il 10kV5805] = £k 9578.2 0
FE Koy it o ) | I K v T SR X A3 e A ) 110KV 5 A8 F i 10kV/56231 5 £ 9578.2 0
FE Ky b A ] | T K 98 T R X 3 e 2 ) 110KV #3538 HE 3 10kV5653 Ik £k 9578.2 0
[ Koy it oy ) | I K v T S X A3 e ) 110k V 7 i 22 FL ik 10kV523%€ £k 9578.2 0
M i AR | E PR R X AR A 35KV 5 [ 45 H il 10kV566 F H 4% 9578.2 0
FE Ky s ) | I K v T SR X A3 e ) 110KV 5 448 FL i 10kV575 52 B2k 9578.2 0
M gt AR | E MR T R X R A 110KV i 148 3l 10kV54217 il 4% 9578.2 0
FE Koy it o ) | I K v T S X A3 A ) 110KV 5 548 F i 10kv573 Tk 2k 9578.2 0
ER K et AT | ERK AT S g AR | 120kVI T8 s 10kV856 3 /J- i £k 9578.2 0
R e AT | ER KA R X i A & 110KV B4 P b 10kV854 - #H 2 9578.2 0
FE Rt AR | E KA T BRI A 35KV 52 [ 48 il 10kV565 5 [H1 2k 9578.2 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
FE M Ka gt AT | WA TR X A ) 110KV #3538 L bk 10kV561 3 7 28 9578.2 0

ER K e AT | ERAKE 7R X A A F 35KV ] A2 F ik 10kV52847 4L 9578.2 0

[ KA 2 &) | K 38 1T X A3 A ) 110KV _FAF H 10kV554)t 2k 9578.2 0

[ KA i s ) | I K v i S X A A ) 110kV - B4 P b 10kV 852 it 2k 9578.2 0

FER K gt AR | E KA SR X A A F 35kV & 7R A8 H ik 10kV53455 )11 25 9578.2 0

FE Rt AT | ERAKA B X A AR 120kV 3, 75 48 L ik 10kv848 52 5% HE 7t A1 £k 7794.2 5195.7
FE Rt A | BRI 7 X A A 110KV 33§, PG 45 F 10kV8307h 3% 2k 7794.2 2182.9
R KA E R A =) | R 36 T X A F A ) 110KV V5 T8 A2 F i 10kV8727H —FR 14 8313.8 2166

M gt AR | EMACE M X R A 110KV R 48 1 bl 10kV/5587 3k 25 4208.9 1772.42
iR SR P A ST W LR Se e i P I A 110KV V142 H 3k 10kv885 T 72 4% 8660.3 2098.04
E R AR | BRI TN X R AR | 110kv TG H 2 Rk 10kv89175 H £k 7863.5 296.4
iR SR P A S W LR Se e b A I A 120k V A1 H A8 HL izl 10kV592iH 4 11 £k 7794.2 940.86
E R Bt A | BRI 7 X A A 110KV V52 T8 42 H 3l 10kv8s3-t: HL i 2k 5196.2 2783.06
KR AL A F] | K T O X AR A ) 120k V A7 H A8 HL izl 10kV593 7 ik £ 7794.2 3065.26
Rt A | BRI 17 X A A 110KV 52 T 42 H 3l 10kV876 3% [ 4k 3290.9 450.02
KR AL A F] | K T O X AR A ) 110k VK 4T 45 A 3 10k V5694 7k £k 4399.4 1764.42
R g AR | BRI TN X R AR | 120k R[22 HL vk 10kV849E F1 £k 4503.3 885.24
KA A T | FE KA T 3 XA A ] 110KV IR AL AR i 3k 10kV 56225 48 tH 5% 2 7794.2 468.76
EM gt AR | ERAE M X AR A 110kVI L 28 H ik 10kV 5 AR 25595 5715.8 639.34
R KA E A =) | R 3 T ] X fR F A ) 120kVIR 628 FE ik 10kv b7k £k 589 7794.2 599.96
EM gt AR | ERAE M X AR A 110kV 75 5 448 H il 10kv 872 A £k 4849.7 403.26
R KA E i A = | R I T 3 X AR F A ) 110kV A A ) 2% P b 10kV 871 HEALTF 11 2% 3464.1 898.58
EM gt AR | ERAE M X AR A 110kV A7 FE 28 1L il 10kV5734F 14k 8660.3 1656.94
R KA E i A = | R I T 3 XA F A ) 110KV V5 T8 A2 F i 10kV 8845 £ 5196.2 895.16
EM gt AR | ERAE M X AR A 35kV A AR H ikl 10kV 8557 A 7 A 2k 7863.5 1152

R KA E R A =) | R 36 T i X A F A ) 110KV KT, 78 42 FR i 10kV855%% 3k £ 6581.8 428.04
FE Rt A | BRI 7 M X A A 110KV 52 T8 42 H 3l 10kV 8825t il 112k 7794.2 374.46
R KA E R A = | R 3 T ] X fH F A ) 110KV AR F il 10kV863 /% AR KBIIHI £k 9526.3 1845.04
BEIM A gt AR | E MR M X AR A R 120k V B IV [78 725 H 3l 10kV851ZF A+ £k 6062.2 1001.96
KR HL A F] | K T O X R e A ) 120kVIR 628 FE ik 10kV586/ MU AT 25 4330.1 2977.18
FE Rt A | BRI 7 X A A 110KV 76 45 H 3l 10kV854 /3 Ik 112% 4849.7 2055.66
W Ka AL A F] | KA T O X g e A ) 110kV/3, 75 48 L ik 10kV K 3 HE £k 825 5196.2 1553.56
Mt AR | EMACR M X R A 110KV A7 R AR 1 3l 10kV5607fE AL IT 41 125 7794.2 239.16
ER KA AT | ERKIA TN X AR AT [ 110kV BRI 42 vk 10kV854 % 7 KBII A 25 9006.7 734.46
Rt A | BRI 17 M X A A 110KV BT AF H 10kV5414E 7 1T £k 7794.2 1354.16
KA R AT | FRK T XA R | 100kv i F 528 Rk 10kv87677 Ik 5196.2 620.96
E Rt A | BRI 7 M X A A 110KV B A2 H 3l 10kv831 = [ £k 5196.2 651.56




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
EM gt AR | EMAE M X AR A 120kV K UT A5 H il 10kV5664T 7 £& 7794.2 575.96
FER I AT | ERAKIA M X A AR 35KV A AR F ik 10kV 856 -1 A £& 5196.2 153.96
RS A PO K ¥ T it 1 X A3 2 ) 110kV/I, ¥ 48 HL il 10kV830i5H I £k 5196.2 1749.96
ERKIE AT | ERAKIE B X H A 110k V/I5, P4 22 FL ik 10kV 823 75 £ 7794.2 787.36
EM A gt AR | ERAE M X AR A 110KV 41§ PG 45 H i 10kV865 12 14k 6928.2 1205.66
R KA E R A =) | R 36 T i XA F A ) 120kV K U] 25 H 37l 10kV 554 3 1 2k 7794.2 261.36
M i AR | E MR M X R A 110KV A7 R AR H 3l 10kV561 1 Bt i 51 2% 7794.2 860.96
R KA E R A =) | R 36 T X A F A ) 110kVIR 628 F ik 10kV566 8 5 KBIIZk 5715.8 1079.84
K AR | BRI TN X R AR | 110kviEL T2 R vk 10kV 8781 ik 2% 6062.2 779.56
iR SR P A ST W LR Se e i P I A 110kVIR 628 FE ik 10kV563 3% 11 & 7794.2 0
M i AR | E MR M X AR A 110KV U FEAR H il 10kV 870 T £& 9179.9 0
iR SR P A S W LR Se e b A I A 120k V 3, 75 48 L il 10kv858 % FE 1112k 7032.1 0
Mt AR | E MR M X AR A 110KV U FEAR HR bl 10kV 888 4 It £ 8660.3 0
KR AL A F] | K T O X AR A ) 120kV I AL A8 HL itk 10kV/561 =157 el [X £k 7794.2 0
Rt A | BRI 17 X A A 110KV i FEAR H il 10kv866/\ — 7K ik £k 6928.2 0
H IR A T | ERKE TN X R AR | 120kv R fE 2% fL 3k 10kV 848K 1 £ 8660.3 0
H K AR | BRI TN X R AR | 110kv TG H 528 Rk 10kv 873t AT £k 6928.2 0
B R KA lE A =) | R 3 T 3 X fR F A ) 110KV V5 T8 42 F i 10kV8944% [H: 2k 9006.7 0
EMRE R A | E WA T X A ) 110KV HC4E AR L bk 10kV861 51 FKBI £k 7863.5 0
FE KR b d A F | WK T O X R A ) 110KV IR %< 42 1 3k 10kV/560 S i 5 2% 7794.2 0
EM gt AR | ERAE M X AR A 110kVI 628 HL ik 10kV/585 L [l A+ £ 6062.2 0
KA A T | FE KA T i X A ] 110KV VA2 3k 10kV 8907 2L 6062.2 0
EM gt AR | ERAE M X AR A 110kVI L 28 HL ik 10kV565 T [ /N X 25 4330.1 0
R KA E i A = | R I T 3 XA F A ) 110kVIR 628 F ik 10kV596:1t 7R 2k 4330.1 0
EM gt AR | ERAE M X AR A 110k V € 128 HL il 10kV 88075 41 ¥4 £& 8313.8 0
E IR AR | ER KA TN X R AR 110KV £ A A8 F 3 10kV5693 %< # £k 5196.2 0
M gt AR | E PR M X R A 110KV ZR A48 H 3l 10kV5515 A+ 2% 10115.2 0
ER KR AT | ERAKIE B X H A R 110k V i A8 FL ik 10kV 8827 £k £k 7863.5 0
FE Rt A | BRI 7 X A A 110KV /27 PG 4% H 10kV 534 R 2k 7794.2 0
KR HL A F] | K T O X R e A ) 110kV A7 AR v 3k 10kv588/)M 1113k 2% 8660.3 0
E R AR | BRI TN X AR AR | 110k O [E 22 f vk 10kv 84272 [id 12 9006.7 0
ERKIAERAT | ERKIATHMN X AR AT [ 110KV BRI 42 vk 10kV 859 A £k 8660.3 0
FE R Bt A | BRI 7 X A A 110KV V52 T8 42 H, 3l 10kV 891 £ 7794.2 0
ER KA AT | ERKIA TN X AR AT [ 110kV BRI 42 vk 10kV863%= V4 A+ £& 8660.3 0
Rt A | BRI 17 M X A A 110KV B 42 H 3l 10kv 8174 16 £k 8660.3 0
KR HL A F] | KR T O X R A ) 120k V/35, 75 48 L ik 10kV846/1N i £ 5196.2 0
HRKE AR | ERMKIE TN X R AT | 110kv TG H 522 Hvh 10kV 877 A A £k 9006.7 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
EIR KA AT | BRI T XA E) | 110KV ER I el 22 56 10kv8s8 R 11 2% 9006.7 0
R KA E i A = | R I T 3 X F A ) 110kV A1 128 F ik 10kV5687H5 KB T £& 9006.7 0
EM gt AR | EMAE M X AR A 110kV/I, 75 28 HL il 10kv 8433, 74 1 s 2% 5196.2 0
FE KRt dL A F] | WK T i X AR A ) 110KV %< 748 1 3k 10kV/546 % 5% £ KBI [2] 2% 6495.2 0
EM A gt AR | ERAE M X AR A 110kV/I, e 48 HL il 10kV 83975 4M R £ 8660.3 0
R KA E R A =) | R 36 T i XA F A ) 110KV 4 P15 A48 FL i 10kV829) |2k 8660.3 0
M i AR | E MR M X R A 110kVI b AR H 3l 10kV 580/ H1 AR 2 8660.3 0
KR HL A F] | KA T O X A e A ) 110KV I %< 42 1 3k 10kV/5497% 3 £ 11033.2 0
FE R LR A E] | B A T i X g 4 ) 35KV Y AR HL ikl 10kV851 Hi [ £k 6928.2 0
iR SR P A ST W LR Se e i P I A 110KV 4k 78 748 v 3 10kv847 7 1k 2% 7032.1 0
FE Rt A | BRI 7 X A A 110KV B AF H 5 10kV5674T 2k 5196.2 0
iR SR P A S W LR Se e b A I A 120kV I AL A8 HL ik 10kV564 451 12% 7794.2 0
EIR KA AT | BRI AT X AR | 110kVAE (K T 2E HLsE 10kV 8693 78 HLZK 7794.2 0
KR AL A F] | K T O X AR A ) 110KV A8 HL izl 10kV 8877 7 £ 9612.9 0
Rt A | BRI 17 X A A 110KV 75 42 H 3l 10kV8664i 1 1125 7794.2 0
ERKIAERAT | ERKIATHMN X AR AT [ 110kvEELL T2 10kV 8682 I £ 6062.2 0
FERIa gt A | BRI 7 X A A 110kV-K ML AR H il 10kV568tL 3 £k 8660.3 0
B R KA lE A =) | R 3 T 3 X fR F A ) 110KV #i AR F i 10kV 868 L £ 7794.2 0
EM gt AR | ERAE M X AR A 110k V B4R HL il 10kV 8891 1% £; 8660.3 0
R KA E A =) | R 3 T ] X fR F A ) 110KV K. 78 42 F i 10kV8525% [X Tl [l £k 9006.7 0
E et a R | B ARG TN XA R 110k V4T 25 i 3 10kV570 4% 78 i 2% 4001 0
EM KR AE | EMKE T L5 X g AR 35KV 76 B AR b 10kV834 51 B 45 2598.1 129.58
E MKy gt AT | EREE T X g E A 35KV 1 i B AR H 10kV835H R 2k 2598.1 234.88
EMKa i AE | FMKET L5 X g AR 110k /\ SR 3k 10kV 862X A £& 9578.2 865.06
ER KGR AT | ERKIET %X gt d A E 110k V 75 K 28 H il 10kV564 %% 5% H: 25 9578.2 901.26
E KR AT | FMKIE T L3 X g A 35KV 7 AR b 10kV836 7 i £ 6114.1 390.38
ERKE R A T | ERKIET 5% X gt e & 110kV J\ AR H 3l 10kv 861 Jifi £k 9786.1 753.5
E KR AE | EMKET L3 X g A 35kVA% 2248 HL itk 10kV5730i H: 2% 2598.1 2481.3
E MKy gt AT | ERKE T X e A 35KV i i A8 HL il 10kV 824 5 i 2k 2598.1 1655.98
E KRt AT | EMKE T L3 X g A 110k V35, 7 42 HL itk 10kV822 5K 5 [ £& 6096.8 386.74
EMK gt AR | ERKIAT %X ge A 110kV /\ A8 HE b 10kv863J5 % 11m1 £ 2598.1 2651.18
EM KR AT | EMKIE T L5 X g A 110KV B 348 H 3k 10kV5327 K 25 9786.1 1246.6
EMK gt AR | ERKIAT L5 X g e A F 110KV 78 K A2 H il 10kV555 % ‘K £k 9630.2 892.26
E KR AE | EMKIE T L3 X g A 120k 5 5 48 FL izl 10kV5933 AR 1 [l £% 2598.1 0
EMK gt AR | EMKIAT L5 X g e A F 110KV A A6 148 v 3l 10kV8774f P2k 4070.3 0
E KRt AE | EMKET L3 X g AR 35KV i V] A2 LIk 10kv826 7] L £ 9578.2 0
EMKEHE A | EMAKET EE X g A 35KV i i A2 HL ikl 10kV 8274 I 4% 9578.2 0




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
EMKE AR | BRI X R AR 35KV R AR AL HL ik 10kV/ 883 X1l 5% i £ 2598.1 0
EMKEERAR | ENKIAET LR R AT | 110kvEEL 12’k 10kV 866/ I £k 2996.4 0
EH it ar | EMKET EEX R AR 110KV 5 5 28 F 3 10kV/58535 74 | 1] £ 9578.2 0
EM KR AT | EMKE T L5 X g A 120k 5 5 8 FL izl 10kV588 75 # £ 9578.2 0
EMK Gt AR | EMKIET L5 X gE A F 35kVA% 2248 H ik 10kV572 i 5 1L 2% 2598.1 0
E KR AE | EMKIE T L3 X g A 120k 5 5 A8 FL izl 10kV58345k 7 | [F1 2% 9578.2 0
E MKyt AT | ERKE T X e A 110KV R A8 H 3l 10KV 5354 i £ 2598.1 0
E KRt AE | FMKE T L3 X g A 110KV B 3748 H 3k 10kV536 T 4 £k 9786.1 0
EMKE AR | MG X AR 110KV 5 )5 AR H il 10kV59243 PE 1 [m] £ 9578.2 0
E KRt AT | EMKET L X g AR 110kV J\ A8 HL itk 10kV859 it 5 L1 £ 9786.1 0
EMKE AR | EMKIET 5E X g A R 110KV 5 )5 AR H il 10kv5947H J\ £k 9578.2 0
P KE gt AT | EMAEIR T e X A AR 110KV T A% FL 33 10KV 542 75 it 25 10444.3 0
EMKE AR | MR L5 X g A 110KV B 3538 HE 3 10kV531 74 V4 25 9751.4 0
E KRt AE | FMKIE T L3 X g A 110k /\ AR 3k 10kv8ssih )\ £ 9578.2 0
EMKE AR | EMKIAT L5 X R A R 110KV B 42 H bl 10kV81175 i 2k 9786.1 0
E KRt AE | FMKE T L3 X g A 110k VK 4T 45 A 3 10kVS734L 18 12k 8694.9 0
E K a gt AT | EK RT3 X gk A 110KV B 3538 LR 3 10kV528%5EE 11 [ £ 2598.1 0
[ WK i &) | KA 7 b e XA A 110KV 4 14 42 F i 10kV 84415 41 £k 2996.4 0
[ R Kya it s &) | B R T b 3 X A A &) 110k V 5 i 48 H il 10kV5824% 7K £5 2598.1 0
ERK G R AT | EMKE T -5 X g i A F 35KV R AR AL FL ik 10kv881L AR Lk 6096.8 0
E it ar | EMKET LKA R 110KV B R AE HL o 10kV533F 4 2k 2598.1 0
EM KR AE | EMKE T L5 X g AR 35KV 78 g AR R 10kV 8433 2% 2598.1 0
EH it ar | EMKET EEX R AR 110KV 75 K 25 H 3 10kV5657 2 £& 2598.1 0
EMKa i AE | FMKET L5 X g AR 110k /\ SR 3k 10kv856/\ S £ 2598.1 0
[ W Kya it o &) | B R T b 3 X A A & 35KV iy i A2 HL ik 10kv828 %2k 9578.2 0
E KR AT | FMKIE T L3 X g A 110KV i 5 42 H 3k 10kv5894L £ 4% 9786.1 0
E MKyt A a | ERKE T X e A 35KV R AR AL HL ik 10kV884-K: H 2k 2598.1 0
E KR AE | EMKET L3 X g A 110k V K 4T 45 At 3 10kV572 4T 18125 8694.9 0
EMKE AR | EMKIET X g AR 110KV 5 J5 A% H 3 10kV584 7% fll 2k 9786.1 0
[ Koy it s ) | I K v i o B XA e A ) 35KV 2 i A2 FL ik 10kV 890 = FT- P JiT 11 1] £ 3464.1 4161.5
EM gt AR | EMKA g X e A F 35KV 5K ki A8 HL izl 10kv817/\ R 2k 4312.8 403.24
FE WKy it s ) | K v T o B XA e A ) 35KV ik it A2 HL 10kV 816 Pk 7863.5 781.2
ER gt AR | EMKA g X g r A F 35kV = B AR HLik 10kV898=F H £k 9578.2 803.96
FE WKy it s ) | K v i o B X e A ) 35KV 2 i A2 FL ik 10kV 8817 3 £k 6980.2 675.56
FE Kyt A ] | K 38 11 o B X e A ) 35kV = F1 A HL il 10kv899kL A 25 5282.8 684.84
[ WKy it s @) | K v T o B X A ) 110KV i B A8 F il 10kV 864K A £ 6096.8 1276.64
[ Kyt A ]| FE K 36 717 o B X e A ) 110kV T B A8 LR 3 10kv 8584 P8 JT 4] I £k 7863.5 1666.3




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
E R it e AR | E KA T XA ) 110kV T B A2 H bk 10kV853 =K £ 6096.8 1067.64
ER KB AT | ERK AT o X i E A & 35KV 2 i AL FL ik 10kV884 £ Ik 4312.8 37.54
[ KA it 2 &) | E K 36 17 R X A H A ] 35KV PE A A8 H ikl 10kv825 b £L 8054 1065
[ WKy it s ) | K v i o B XA A ) 35KV 2 i A2 FL ik 10kV888 5 Sk < £k 9578.2 747.36
B P i e A ]| K 7 o B DX A 35kVZE e K L 10kV 8877 i £k 8054 0
MK a gt AT | MK i X g A [ 110KV B A8 H 3k 10kV 8573 i1 2% 7863.5 0
EMKE gt AR | EMAKE T A X AR A 110KV 37 A AR H 3l 10kV 5483, 7= FF 41 T 4% 9578.2 0
FE Koy it s ) | I K v i o B XA e A ) 110k V 37 4128 FL ik 10kV557 RV b 2k 6980.2 0
Ky bl A | K 36 T s B X e A ) 110KV 7 48 kR 3 10kV8593% P JT 41 7 11l 9578.2 0
HFKAEERAR | EMKETEEXERAR 110KV F7 478 H 3l 10kV558[5H 1 £k 6096.8 0
FE Ky b A ] | T K 96 7 ok B X e A ) 35KV G A+ A8 L b 10kV827#i 5 1 2% 10565.5 0
[ Koy it o ) | I K v i o B XA e A ) 35KV PH A A2 F ik 10kV 826 TGk 7863.5 0
Kyt A | K 36 T s B X e 2 35KV G A+ A8 L i 10kV8244x - 4 8054 0
FE WKy it s ) | I K v i o B X e A ) 110KV i B A8 F 10kV 86014 £ £k 9578.2 0
ER st AT | ERKaTd g X AR | 120kvE kF28 10kV581 4 HE 2k 9578.2 0
[ R Ky it s ) | K v T o B X A ) 110KV i B A8 F 10kV863 A %2k 6096.8 0
EM gt A R | EMAKE T o X AR A 110KV 374 AL H il 10kV559 33§ 2= JT- A1 fir 11 [ 2% 6096.8 0
[ WKy it s ) | I K v T o B XA A ) 110KV & Sk 5748 HL ol 10kV/584 9 R I 2% 9578.2 0
B i L A ]| K 7 o B XA A 35KV B AR H b 10KV 894 ] Hfi i £& 9578.2 0
W Ka b d A E | WK T e B X A ) 120k V i B 48 HL inky 10kV 8613, A £ 5629.2 0
B i L A ]| K 7 o B DX A A 110KV Jf P 45 H 3 10kV5314: 5 25 7863.5 0
WK ya b d A m | KA T e B Xk e 2 ) 35KV K it A HL i 10kv8153L /\ i £k 7863.5 0
[ WK ya it 2 &) | E K 36 17 X A H A ] 110KV 27 75 45 H il 10kv527 b AT 25 6096.8 0
iR SR P A S W LR S e e A= A 110Kk V & 5 48 L il 10kV528 1 fE 2 8054 0
[ e va it A &) | K3 T o B X A 110KV i B A8 H 10kV865 & T % 2k 9578.2 0
K a AT | ER K i X g AR 110KV FE #4748 i 3k 10kV 5245 A 28 9578.2 0
FER K gt AR | EMKA T g X g A 35KV 2 i AR HL ik 10kV 8862 1= £& 7863.5 0
FE R Koy it s ) | I K v T o B XA A ) 110KV i B A8 F 10kV 8555 AT £k 4312.8 0
MK a fEa AR | E KA T X L 110kV 37 A AR H 3l 10kV544 2% A+ 2% 8054 0
] R 362 it Fi 2 ] [ ) 7 LA B ] 110kV ARAY 2L F ik 10kV 838 I £k 7863.5 1720.2
] ) K v 41k Hh A ] ] o K - L A3 B A ] 35KV 7K A8 HL b 10kv866 T 54k 7863.5 439
] K36 it r 2 7 [ P K T B L A 7 110KV #4442 F i 10KV 54435 4R 111 25 7863.5 2946.1
] o K98 it F 2 [ K 7 Bt 2 A 110kV K 48 1 il 10kv57246 T2k 7863.5 1935
] 4 K36 it r 2 7 ] P K T Bl A 7 35KV )11 11738 F v 10kV886EF XL £k 7863.5 239.2
] P 3 4t F 2 ) ] 5 K B v 2 35kV R 7K A8 HL izl 10kV 8715y #+ £k 10911.9 910.02
] K36 it r o 7 ] P K T Bl L A 7 35KV 7 IR AL FL itk 10kV858F [ 2k 7863.5 576
] ) K v 41t Hh A ] ] o - L A3 e A ] 110kV JF SR A8 b 10kV561 24 bk 2k 7863.5 534.6




FRAEEAT | FREEEAT BRI s 2T BRER ARG | AR
] 0 v it H A ] ] I K - L ik H 2 ] 35KV )11 171738 H i 10kV 8874 7K & 7863.5 352.4
] P 362 it Fi, 2 ] [ X T B e 2 7] 120kV ARAY 2L F il 10kV 845 R AR 25 7863.5 1623.8
] P 3 it H 2 ) ] 5 K B v 2 110kV SR AY 28 H il 10kV 84173 A+ £k 7863.5 1912
] R 362 4t Fl A [ X T B e A ] 110kV K 728 F ik 10kV 5693 1L £k 7863.5 0
FE] P 3 it H, 2 ) ] 5 K L v 2 35kV 7R H R A H by 10kV 8293k £, 4% 7863.5 0
FE R v it A A ) A< 7 B A ] 110KV 7748 L 3k 10kV579 74 T2 8054 0
] ) K v 41k Hh A ] ] o K - L A3 B A ] 35KV ¥ R A8 HL vl 10kv8s5 K 8 Sk Tl 2% 7863.5 0
] R 36 4t Fi A [ ) 7 LA B ] 110kVFH A28 FE ik 10kV/ 5513 fifl 2§ 7863.5 0
] ) K v 41k Hh A ] [ o] K- - L A3 L A ] 35kV 7R H R R 36 10kV828 (=) £k 7863.5 0
] R 362 it Fi A ] I ) 7 LA B ] 110kVFH A2 FEL ik 10kV554 78 FR £k 10911.9 0
Rl v it H 2 ) RS = ¥ AT 110KV FH A AR H il 10kV5423 7R 1 [Hl4k 10911.9 0
FE 9 K v it L A ] I o - LA e A ] 110KV AR A A2 1 3k 10kV847 A AT Talk 25 7863.5 0
FEl A v it L A ) B X - B Al A ] 110kV K 48 1 il 10kV581I R 1 [m] 2% 7863.5 0
] R 362 it Fi 2 ] [ ) T LA B ] 35KV )11 11738 F v 10kV8834%; T 2k 7863.5 0
FEl A v it H 2 ) B Y 7 Bl A ] 35kV R 7K A8 HL itk 10kV 86774 H; £k 7863.5 0
FE 7 K v 4t L A ] I o - LAl e A ) 110KV AR A A2 1 3k 10kV 848 A Al £k 7863.5 0
FE Y KV it L A ] ] A Bl i A ] 35kV) 1] F17A8 H 3 10kv 8854 ¥ £k 7863.5 0
] R 362 4t Fl A [ Y T B e 2 ] 110kVFH A28 FE 10kV5574 4% 1T [ml 2k 7863.5 0
RSP WK B A LA 35KV 7R I R 22 L ik 10kV822%% ) £k 9855.4 0
] R 362 it Fl A [ X T B e 2y 7] 110kV K 728 F ik 10kV5733 P £& 7863.5 0
ER S| P T Bk R A ] 110KV FF 2675 i 3 10kV 5607 11 £& 9006.7 0
] R 362 it Fl A [ X T B e A 7] 110kV K 728 F ik 10kV571950 i 1 1l 25 7863.5 0
] 0 v it B A ] [ K F Bt A A 110kVH A28 HL il 10kV552 7R HE 28 7863.5 0
] R 362 it Fl A ) [ X T B A e A 7] 110kV K 728 F 10kV57874 T2k 7863.5 0
] P 3 it H, 2 ) ] 5 K - B v 2 35kV 7R H R A H by 10kV830% T4k 7863.5 0
] R 362 4t Fi A ) [ X T LA e 2 ] 110kVFH 428 F ik 10kV 5455 £8 2% 10911.9 0
] P 3 43t F, 2 ) I X K L v 2 110kVFH A AR 1 il 10kV/5487F A+ £& 7863.5 0
] R 362 it Fi A ) ) 7 LA Ef 2 ] 110kV K 728 FE ik 10kV577HE) 2k 7863.5 0
Bl ) v it i 2 ) B Y 7 B Al 2 ] 110KV 48 L 3 10kV576 % T4k 7863.5 0
] R 362 it Fi 2 ] [ ) 7 LA B ] 35kV X 7K 22 FL ik 10kV8631ifl i £k 7863.5 0
Rl ) v it H 2 ) B Y - B Al e 2 ] 35kV R 7K A8 HL itk 10kV 8621 5t £k 7863.5 0
] R 362 4t Fl A ) I ) 7 LA B ] 35kV 7K 22 FL ik 10kV868 5. 7K £k 10911.9 0
] o K98 it F 2 ] X K - B f 0 35KV R R AL HL ik 10kV859 74 18 3 2k 7863.5 0




